X BIEHEFE (g2 3F5888 (B)  HEaEFHFKIB)
SEREES
1 2 3 4 5 6 7 8 9 [ 10| 11| 12 |&&t| E
EeAE 0 0 0 1 1 2 0 0 4 —
BIEMZE O O 0O O O O 0O O (@] 2
MANMULEEKR= || O (0] (0] (@] & 1 1 | 2X 7 1
ZITH 0 0 2 0 3 1 1 2 9 —
(5F] <HNRULEERRSD>
| 9@ K3 19 | 208 | 3@ | 48 | 5@ | 6@ | 70 | 8@ T8 | 28 | I | B2 | &K
1 4 WO | = TR Al 2 2
2| 8 FOpE | B TR = —7 3
3 9 ANIEER | PR e | Gl —J0 4 1 3
4 3 fEEBFA | —70 —J 0|70 =70 4 1
5| DH b={Z2) N iR —Jao ax POEK 3 1 1
6 6 EpF0th 70 =R | AR WEDP 4
7 2 KBIE—EBR iR ool | %10 past=]i) 4 2
8| 5 BEER —R ohAl | ohR [UEk 3 1
7 | TESEAB B =10 TUBR 2 1 (1)
9 R EBXH
7 St RE 7Rl 1 1 1
(BF] <NRULEERRSD>
K& [EE= 18 |BRY| 23T |==m| #37 |mER| = hm B8R ([BRERF] =8
=5iK ) 28 | o5 | 4 2 1 7 (CE247) T8
=£47)
(REHT) =28
(#F) <HNRLEERRSD>
K& BIK TEIE e BERI
KBIE—BB 1
(5F) <BEHZE>
| o9& K& 19 | 208 | 3@ | 48 | 5@ | 6@ | 70 | 8@ T8 | 28 | I | B2 | &K
1 7 7T =iR —Jn =IR =iR 4 1
2 4 HE =R - gt (1) 3 2 (1)
3 8 rs —7R L= gl 2 1
4| 5 Wwo [UEk ch7R —7 2 1
5 2 AR L= =ik —J0 2
6 3 FoYey —Jo i =IR 3 1
7 6 S WD 0 —E W10 3
s 9 ==]1]] am =& 2
H9 =as am 1
oD (S0 =71 =DP 2
H.D FARIF B 1
(BF] <BEHZE>
K& [EE= 18 |BRY| 237 |==m| 33T |mER| = %m B8R (BE®RF] B
=) 6 26 | o7 | 6 (1) 1 2 1 4 3 (Z247)
e 166 10 | 7 3 3 3 2 (=247)
[RE1T)
(#F) <BEHZE>
K& BIK TEE e BERI

AR




